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Answers
y = 5x + 3 is an example of the Slope Intercept Form and represents the equation of a line with a slope of 5 and 
and a y-intercept of 3. y = ?2x + 6 represents the equation of a line with a slope of ?2 and and a y-intercept of 
6.A1.3.6 Represent linear relationships graphically, algebraically (including the slope-intercept form) and 
verbally and relate a change in the slope or the y-intercept to its effect on the various representations;Next 
Answer Chapter 5 - 5-3 Slope-Intercept Form - Standardized Test Prep - Page 312: 77 Previous Answer Chapter 
5 - Linear Functions - 5-3 Slope-Intercept Form - Practice and Problem-Solving Exercises - Page 312: 75Slope-
Intercept Form Answer Key. Instructions: Write the equation of the line in slope-intercept form.


